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20243 SQZ =T
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1. 7I=971L

7t AX|2H: HESEA vl SeBtrs A 9 &8 24

Ll MX|EE: 20094
Ct =M

EI‘- 7 o =

ao-i-
1) #nE 5o Aul, FHAA
2) S9BTAAA ] HE g D A

3) 2 YAl W AAMA sbol ekl ALY

4) 71 9ol ASEWA rhE o] B Basttia A4S

2. 7|3 23AH = dHZEet
<FAA=>
(2He]: M 2l)
F-g-g-5 of| 4434 A b Z oH HE F o ik
= 2 et A 1,506,369 120,000 1,626,369
Mel=2! (200) 386,000 120,000 506,000
UA M| 2| =2 26,000 120,000 146,000
7 |Ef¢ 26,000 120,000 146,000
a2l (224-07)
1)20244 S DAIEFA=
10,000,000¥
1)20244 =2t Mekg 3 Flekd A 26,000 120,000 146,000
AE XA AR 16,000,000¥
1)2024d SSHA AL &= K& A
120,000,000&
HH4S 2 WFAHe] (700) 1,120,369 0 1,120,369
HEsUS 1,120,369 0 1,120,369
of| x| 23l 1,120,369 0 1,120,369
ol x|Z=l5 (714-01) 1,120,369 0 1,120,369
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M - " - e HMRAY - BAS | ofase [ HZY | #@d F o
x| o 2 Al 1,506,369 120,000 1,626,369
EddEn 1,506,369 120,000 1,626,369
d=tt =281 =3t=d 330,600 120,000 450,600
M E= =4 330,600 120,000 450,600
1= JHUAL 330,600 120,000 450,600
Al B[] (401) 40,000 120,000 160,000
AlgH| (401-01)
1)EHTRE BEUKE M3 AR
40,000,000 40,000 120,000 160,000
B2 AN &5 Ated
120,000,000&
NFes 1,175,769 0 1,175,769
BEXE 1,175,769 0 1,175,769




